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AP Statistics 

Part 1 Review Test 2 
 

1. You have a set of data that you suspect came from a normal distribution.  In order to assess normality, you 

construct a normal probability plot.  Which of the following would constitute evidence that the data 

actually came from a normal distribution? 

 

(a)  A strongly linear relationship between the data and their standardized values. 

(b)  A bell-shaped (normal) relationship between the data and their standardized values. 

(c)  A random scattering of points when the standardized values are plotted against the data. 

(d)  A strongly non-linear relationship (with no outliers) between the data and their percentiles. 

(e)  A uniform relationship between the percentiles and the standardized values.  

 

 

2. The cost of glass cleaner is nicely described by a Normal model with a mean cost per ounce of 7.7 cents 

with a standard deviation of 2.5 cents.  What is the z-score of Windex with a cost of 10.1 cents per ounce? 

 

(a)  0.96 

(b)  1.31 

(c)  1.94 

(d)  2.25 

(e)  3.00 

 

 

3. A large company has offices in two locations, one in New Jersey and one in Utah.  The mean salary of the 

office assistants in the New Jersey office is $28,500.  The mean salary of office assistants in the Utah 

office is $22,500.  The New Jersey office has 128 office assistants and the Utah office has 32 office 

assistants.  What is the mean salary paid to the office assistants in this company? 

 

a. $22,500 

b. $23,700 

c. $25,500 

d. $27,300 

e. $28,500 

 

4. In the northern U.S., schools are sometimes closed during winter due to severe snowstorms.  At the end of 

the school year, schools have to make up for the days missed.  The following graph shows the frequency 

distribution of the number of days missed due to snowstorms per year, using data from the past 75 years. 

 
 
Which of the following should be used to describe the center of the distribution? 

 

(a) Mean, because it is always the best measure. 

(b) Median, because the distribution is skewed. 

(c) IQR, because it excludes outliers and includes only the middle 50 percent of the data. 
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(d) First quartile, because the distribution is left skewed. 

(e) Standard deviation, because it is unaffected by outliers. 

 

5. A resident of Auto Town was interested in finding the cheapest gas prices at nearby gas stations.  On 

randomly selected days over a period of one month, he recorded the gas prices (in dollars) at four gas 

stations near his house.  The box plots of gas prices are as follows: 

 

 
 

 Which station has more consistent gas prices? 

 

(a) Station 1 

(b) Station 2 

(c) Station 3 

(d) Station 4 

(e) Cannot be determined 

 

 

6. A small kiosk at the Atlanta airport carries souvenirs in the price range of $3.99 to $29.99, with a mean 

price of $14.75.  The airport authorities decide to increase the rent charged for a kiosk by 5 percent.  To 

make up for the increased rent, the kiosk owner decides to increase the prices of all items by 50 cents.  As 

a result, which of the following will happen? 

 

a. The mean price and the range of prices will increase by 50 cents. 

b. The mean price will remain the same, but the range of prices will increase by 50 cents. 

c. The mean price and the standard deviation of prices will increase by 50 cents. 

d. The mean price will increase by 50 cents, but the standard deviation of prices will remain the 

same. 

e. The mean price and the standard deviation of prices will stay the same. 

 

 

7.  Which of the following are true statements? 

 

I. The standard deviation is the square root of the variance. 

II. The standard deviation is zero only when all values are the same. 

III. The standard deviation is strongly affected by outliers. 

 

(a) I and II 

(b) I and III 

(c) II and III 

(d) I, II, and III 

None of the above gives the complete set of true responses. 
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19. In the accompanying display, which has the larger mean and which has 

the larger standard deviation? 

 

 
 

 (a) Larger mean, A; larger standard deviation, A      

 (b) Larger mean, A; larger standard deviation, B  

 (c) Larger mean, B; larger standard deviation, A  

 (d) Larger mean, B; larger standard deviation, B 

(e) Larger mean, B; same standard deviation 
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Part II – Free Response 

 Show your work. 

 

1.  

 
 

 

 

 

 

  



2. Five hundred randomly selected middle-aged men and five hundred randomly selected young adult men 

were rated on a scale from 1 to 10 on their physical flexibility, with 10 being the most flexible.  Their ratings 

appear in the frequency table below.  For example, 17 middle-aged men had a flexibility rating of 1. 

 

Physical 

Flexibility Rating 

Frequency of 

Middle-Aged Men 

Frequency of 

Young Adult Men 

1 17 4 

2 31 17 

3 49 29 

4 71 39 

5 70 54 

6 87 69 

7 78 83 

8 54 93 

9 34 73 

10 9 39 

 

(a) Display these data graphically so that the flexibility of middle-aged men and young adult men can be 

easily compared. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(b) Based on an examination of your graphical display, write a few sentences comparing the flexibility of 

middle-aged men with the flexibility of young adult men. 
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